RUUNAEDU

ANlAAIAASUIY (A23101)  dsaufnuiUn 3

1599 STUUANNSLTNAUHDIALUS

v &) o
YoladumnauveIaunis

X+3y = 3 Way 2x-y = 13
1. (1,-6) 2. (1,6)
3. (6,-1) 4. (6,1)

¥ < 3
“EJ@IG]LTJU?‘]’WIE]UGUENEWﬂ’]’i

dx+y = 10 uayg 2x-5y = 16
1. (3,2 2. (3,-2)
3. (-3,-2) 4. (2,-3)
. AMOUVBIILUUANNTT
X+y=9 Wy x-y=>5 fetoln
1. (7,2 2. 2,7
3. (8,3) 4. (3,38)

. ANRDUVDITEUVANNTT X + 2y =4 ey

3x + 6y = 12 1AAMOU
1. lufideeu 2. fAmauLien
3. 1 2 Ameu 4. AviangAneu

. AIRRUVDITEUVANNTT  2X + y=73

uaz ax+2y = 4 dfAneu
1. ldfimeeu 2. 1 2 Amau
3. dAvangAneu 4. JAAnauLie

. NTPUVEUNTT  2X + Sy = 5 uay

3+ 8y =7 ui (x,y) whduwils
1. (5,1) 2. (5 -1
3. (-5,-1) 4. (-5,1)

7.

9.

2, 3) WufneauvassEuvaunIsia
1. 5x-3y=1
X +2y=28
2. x+3y=1
X+2y=8
3. bx-3y=1
TxX—-2y =28
4. 5x+3y=1
Tx—-2y=8

8. (9, 5) WummauvassEuUaNnsiuTale

1. x-y=4
11x + 11y = 154

2. xX+3y=12
xX+y=5

3. x=3y=7
X-—y=28

4. x-3y=-3
2x -y =2

o (@, b) WurneuvessTULANMS X + 2y = 1
Wag x - 2y = 5 U817 2a + b dauila

1. 4 2. 5

3. 6 4. 7

10. 61 (a,b) WuA1mEUIDITLULANNIS 2 — 3y = -5

Wag 5x — 2y = -7 W1 a + b fAwila
1. -3 2. -2
3. -1 4. 0

o v Aa

Aty waeANAIN
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